Additionsmauern Terme
Ubungen

Berechne den fehlenden Stein der Mauer.

‘ 7x+6y ‘ 10x+6y ‘ ‘ 6x+2y 3x+1y
| | | |

\ SX+2y \ 7X+6y \ \ 10x+9y Sx+4y
| | | |

| 5x+6y | 8x+10y | | 5x+3y 5x+1y
| | | |

L ox+ly | 2x+ly | | 3x+10y 8x+9y
| | | |

‘ 3x+2y ‘ 3x+6y ‘ ‘ 4x+6y 1x+5y
| | | |

| 3x+8y | 6x+ly | | 8x+3y 8x+10y
| | | |

. 10x+8y | 1x+By | | 9x+6y 1x+10y
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Additionsmauern Terme
Lésungen

Berechne den fehlenden Stein der Mauer.

| 17x+12y | | ox+3y |

‘ 7x+6y ‘ 10x+6y ‘ ‘ 6Xx+2y 3x+1y ‘
| 12x+8y | | 15x+13y |

\ SX+2y \ 7X+6y \ \ 10x+9y \ Sx+4y \
| 13x+16y | | 10x+dy |

| 5x+6y | 8x+10y | | 5x+3y 5x+1y |
| 1x+2y | | 1Mx+19y |

o ox+ly | 2x+ly | | 3x+10y | 8x+9y |
\ 6x+8y \ \ 5x+11y \

‘ 3x+2y ‘ 3x+6y ‘ ‘ 4x+6y 1x+5y ‘
| 9x+9y | | 16x+13y |

. 3x+8y | 6x+ly | |  8x+3y | 8x+10y |
| 1ix+14y | | 10x+16y |

. 10x+8y | x+6y | |  9x+6y | 1x+10y |
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